
 

KM 
Kim’s Maths Stage 16 

 
www.cyberschool.co.kr 

 
  Evaluate the following. 

 

(1)  √3 + √3 

 

(2)  3√5 + 2√5 

 

(3)  7√2 + 3√18 

 

(4)  8√8 + 3√32 

 

(5)  11√80 + 12√20 

 

  

 
  Evaluate the following. 

 

(6)  4√5 + 2√5 + 2√5 

 

(7)  3√3 + 5√27 + √81   

 

(8)  7√2 + 3√2 + 2√5 + 4√5  

 

(9)  3√18 + 2√27 + 2√8 + 2√50  

 

(10)  √60 + 5√15 + 6√12 + 2√48   

  

 



 

 
  Evaluate the following. 
 

(11)  5√2 − 2√2 

 

(12)  7√5 − 10√5 

 

(13)  9√3 − 6√27 

 

(14)  4√8 − 2√32 

 

(15)  10√32 − 15√18 

 

 
  Evaluate the following. 

 

(16)  8√5 − 12√75 + 4√125 

 

(17)  9√64 − 5√32 − 2√8   

 

(18)  9√2 − 5√2 + 12√5 − 4√5  

 

(19)  6√108 − 7√80 + 2√20 − 4√75  

 

(20)  2√44 − 5√63 − 3√99 − 4√28    

  

 



 

 
  Simplify the following. 

 

(21)  √ܽ + √ܽ 

 

(22)  2√ܾ + 4√ܾ 

 

(23)  5ඥܿଶ + 2ඥ4ܿଶ 

 

(24)  7ඥ9ݔସ + 3ඥ16ݔସ 

 

(25)  4ඥ25ݕଵ଴ + 6ඥ36ݕଵ଴ 

 

 
  Simplify the following. 

 

(26)  3ඥ݉ଷ + 7ඥ݉ଷ  + 2ඥ4݉ଷ 

 

(27)  5ඥܽଶܾଶ + ඥ100ܽଶܾଶ  + 2ඥ64ܽଶܾଶ   

 

(28)  7√ܽ + 5√ܾ + 4√ܽ  + 5√ܾ  

 

(29)  3ඥ9ݔଶ + 4ඥ16ݔଶ + 3ඥ4ݔସ + 4ඥ25ݔସ   

 

(30)  ඥ9݉ଶݔଷ + ඥ݉ଶݔଷ + ඥ4݉ଷݔଶ + ඥ݉ଷݔଶ   

 



 

 
  Simplify the following. 

 

ݏ√5  (31) −  ݏ√2

 

ݐ√6  (32) −  ݐ√3

 

(33)  8ඥ݀ଶ − 3ඥ9݀ଶ 

 

(34)  4ඥ16ݕସ − 2ඥ25ݕସ 

 

(35)  4ඥ36݉଺ − 9ඥ4݉଺ 

 

 
  Simplify the following. 

 

(36)  6ඥ9ܽଷ − 7ඥ4ܽଷ − 2ඥ36ܽଷ 

 

(37)  3ඥ144ℎଶ݇ଶ − 2ඥ81ℎଶ݇ଶ − 3ඥ4ℎଶ݇ଶ   

 

(38)  13√ܽ − 5√ܾ − 5√ܽ  + 9√ܾ  

 

(39)  ඥ400݉ସ − 2ඥ9݉ସ − 3ඥ4ݔସ − 3ඥ36ݔସ  

 

ଷݐଶݏ4√  (40)  − ଷݐଶݏ49√ + ଶݐଷݏ4√ −    ଶݐଷݏ9√

 



 

 
  Rationalise the following. 

 

(41)  
3

√2
   

 

(42)  
2

√6
     

 

(43)  
14
√7

    

 

(44)   
3√5
√3

       

 

(45)   
√44
√12

  

 

  

 
  Rationalise the following. 

 

(46)    
3

√ܽ
      

 

(47)  
√27
√ܾ

    

 

(48)  
2√ܽ
√݉

    

 

(49)  
√18݊

3√݉݊ଶ
  

 

(50)  
ඥ12ݔସݕ
2ඥݕݔଶ

   

 



 

 
  Rationalise the following. 

 

(51)  
3

√5 − √2
    

 

(52)  
2√2

√11 + √5
  

 

(53)  
√2

√8 − 3
    

 

(54)  
4

2√3 − √2
    

 

(55)  
√24

√18 + 4
 

 
  Rationalise the following. 

 

 (56)  
5

ݔ√ − √2
    

   

(57)  
2(ܽ − ܾ)
√ܽ − √ܾ

    

 

(58)  
3(2݉ − 4݊)
√2݉ + √4݊

  

 

(59)  
4

√ℎ − ݇
    

   

(60)  
7(ܽ − ܾଶ)

√ܽ − ܾ
    

 


